
PARTS LIST

PARTS LIST AND DIAGRAM

Please read the following carefully the manufacturer and/or distributor has provided the parts list and assembly 

diagram in this manual as a reference tool only. Neither the manufacturer or distributor makes any representation 

or warranty of any kind to the buyer that he or she is qualified to make any repairs to the product, or that he or she 

is qualified to replace any parts of the product. In fact, the manufacturer and/or distributor expressly states that 

all repairs and parts replacements should be undertaken by certified and licensed technicians, and not by the 

buyer. The buyer assumes all risk and liability arising out of his or her repairs to the original product or 

replacement parts thereto, or arising out of his or her installation of replacement parts tz

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

Part Description Qty. Part Description Qty.

inductor

stator

deep groove ball bearing -607RS

carbon  brush

brush  box

PCB

rotor

deep groove ball bearing 608RS

fan 

vibration holder

wind fender

wool felt

washer

press steel wire

cover of steel wire

washer of insulated paper 

2

1

1

2

2

1

1

1

1

1

2

1

1

1

2

2

2

1

deep groove ball bearing 6001RS

aluminium plate

screw ST3.9X12

balance block

washer M4

screw M4X12

plate set 

spring washer M4 

screw M4X6

screw ST3.9X17

right housing

switch push button

switch

capacitor

terminal block

cord sleeve

cord&plug

dust bag assemble

1

1

4

1

1

1

1

1

6

11

1

1

1

1

1

1

1

1

79564FINISHING SANDER 220W



ASSEMBLY DIAGRAM

ASSEMBLY DIAGRAM

79564FINISHING SANDER 220W


